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Chapter 02 ¥&5A

2.1

Command Window

»» [a-h){a"2+a+b+b"2)
(a-b){a"Z+a+b+b"2]
T
Error: Invalid expression. When calling & function or indexing a wariable,
use parentheses. Otherwise, check for mismatched delimiters.

Did wou mean:
*» La-bl+{a"Zrasb+b"2)
ang =

19

2.2

U 2o HolFZo] A% xS o8&k A4 3709 mAF9] @
}« o1t+

Command Window

== b= [-1 4 -1;2 -2 331 -21;
[4:7:-1]:
A

*xC

>
W =
1.0000
2. 0000
4. 0000




2.3

Command Window

»» epsilond = 3.585de-12;
> ql = 2e-10;:
*» g2 = Je-10;
*»» r1 = 0.6;
*» re = 0.25;
=¥ = (10 dspizepsilon0) )+ (al /vl + q2/rZ2)
Yy =
17,3763

2.4

Command Window
*>4=[B1688546837722];

> B =4.72;

> h_sqrt = sqrt(4,"2)

h_sqrt =
8 1 G 5
5 4 5 a
3 7 2 2

¥ B = log(3+h+2];

*» h_log = (exp(B)-2)/3

b_log =
a. 0000 1. 0000 G, 0000 5. 0000
5. 0000 4., 0000 5. 0000 &, 0000
3. 0000 7. 0000 2. 0000 2. 0000

2.5

Command Window

= | = [5,8,3,10,9,8,12,15,14,8] ;
»» ¥ = [20,25,18,15,22,16,9,33,27.8] ;
= Po= e

Error using _+
Incarrect dimensions for matrix multiplication. Check that the number of
columns in the first matrix matches the number of rows in the second matris,
To perform elementwise multiplication, use ~ .+,
P o= Y]
P =

100 200 B4 160 1983 128 108 495 308 43




2.6

Command Window

»» P =[1 2;-2 1:3 4;:-1 B];
»»0=[20-1:4 5 2];
>>R=[712-2;-6-43-1;1 -3 4E&[;
>l 4=[1000;0100:;0010:0001]:
¥ T = 3+P+0+A - 2+1_4
T =

367 123 B 24

a7 2z 3 av

T 261 1a 2

TeE 256 15 163

2.7

Command Window

= b = opnes(d,B)

1 1
1 1
1 1
1 1

*» b = zeros(d,6)

o o o o
N Y o R
o O Y o Y
o o o o
N Y o R
o O Y o Y




2.8 (a)

Command Window

= b = zeros(4,6);

> A01,:) = ones(1,B6)

b=
1 1 1 1 1 1
0 0 ] 0 0 0
0 0 ] 0 0 0
0 0 ] 0 0 0

»» & = zeros(4,6);

A0, = [0 101011

b=
1 1 1 1 1 1
0 0 ] 0 0 0
0 0 ] 0 0 0
0 0 0 0 0 0

(b)

Command Window

> b = zeros(4,6);
== 4090 = [1];

= A(E) = [1];

2 A014) = [1]:
)

L=

o o o 43
o o — 4O
o o o —
o o — O
o o o O
o o o O




2.9 (a)

Command Window
¥ P =513:z0
P =
5 a 11 14 17 20
> L = length(P)
L =

(b)

Command Window

=» [ = linspace(8,62,10)

g 14 20 25 e 38 a4 =] FE 62
= j o= (OOI0D-C001 03 0 length(Q)-1)

2.10

Command Window

[B1BE5EA48583:3722]:
4 — [diag(diag(a)),zeros(3,1]]

=>4
=> B




